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	THE JAIN INTERNATIONAL SCHOOL, BILASPUR

	
	A JGI Institution

	 ASSESSMENT EXAMINATION- 1  (2015-16)

	Class :
	XII
	 subject :
	CHEMISTRY
	TIME :
	3 Hours


General Instructions:

(i) All questions are compulsory.

(ii) Marks for each question are indicated against it.

(iii) Question numbers 1 to 5 are very short-answer questions and carry 1 mark each.

(iv) Question numbers 6 to 10 are short-answer questions and carry 2 marks each.

(v) Question numbers 11 to 22 are also short-answer questions and carry 3 marks each.

(vi) Question number 24 is value based question and carries 4 mark.

(vii) Question numbers 24 to 26 are long-answer questions and carry 5 marks each.
1. Why is Chloroform stored in dark coloured bottles ?





[1]
2. Write the  structure of p-methylbenzaldehyde.





[1]
3. Name the reagent used in the conversion of Phenol to Benzoquinone.



[1]

4. Arrange the following in decreasing order of pKb values-C2H5NH2, C6H5NHCH3,


[1]

    (C2H5)2NH, C6H5NH2.

5. Haloalkanes easily dissolve in organic solvents.Why ?





[1]  
6.  Write the IUPAC nomenclature of     i)[image: image2.png]


                ii)[image: image3.png]




[2]

7. Why do Haloarenes not undergo Nucleophilic substitution reaction ? Explain.


[2]












8. Write the equations involved in the following reactions :




[2]
    i) Cannizaro reaction

   ii) Hell Volhard Zelinsky reaction

9. Write chemical equations for the conversion of CH3CH2Cl  into CH3CH2CH2NH2.


[2]














10. Complete the following  reactions  :







[2]
                                acetone
i) CH3CH2Cl + NaI [image: image4.jpg]



                                    heat

                                     peroxide
ii) CH3 CH=CH2 +HBr [image: image5.jpg]


 

11. i)Write the Coupling reaction with Phenol.                                                                                
     [1+2]

       ii)Explain why Aliphatic Amines are stronger bases than Ammonia.

12. i) Which alkyl halide from the following pair would you expect to react more rapidly 
      
        [3]

          by  SN1 Mechanism? Explain your answer.

[image: image6.jpg]


  
      ii) Which would undergo SN2 reaction faster in the given pair :

         CH3CH(CH3)CH2CH2Br    and    CH3CH2CH(CH3)CH2Br

     iii) Why is thionyl chloride considered as the best reagent to convert alcohol to alkyl halide ?
13. Give reasons for the following :







       [3]
      i) 2-Bromobutane is optically active but 1-Bromobutane is optically inactive.

      ii)The C-Cl  bondlength in Chlorobenzene is shorter than that in CH3Cl. 

     iii) Electrophilic reactions in Haloarenes occur slowly.

14.  Write the structure of the major organic product in each of the following reactions:

      [3]
       i) C6H5-ONa + C2H5Cl  [image: image7.jpg]



      ii)[image: image8.jpg])



        +HI [image: image9.jpg]
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     iii) CH3CH2Br + KCN 
                                         
15. Bring about the following conversions :






     [3]
      i) Aniline to Phenol

     ii) Prop-1-ene to Propan-1-ol

    iii) Anisole to 2-methoxytoluene

                            OR
     What happens when  :

      i) Phenol is treated with CH3COCl / anhydrous AlCl3
     ii) Ethanol is treated with Cu at 573 K
    iii) Ethoxybenzene is treated with HBr
16. How will you bring about the following conversions :






[3]
       i) Benzyl chloride  to Benzyl alcohol    

      ii) Ethyl magnesium bromide to Propan-1-ol    

17. Account for the following:









[3]
     i) Aldehyde is more reactive than ketone towards nucleophile.

    ii) Acetaldehyde undergoes aldol condensation and not cannizaro reaction.

   iii)  Aldehydes and ketones are polar in nature.

18. Draw the structures of : 








         [3]
       (i) 3-Oxopentanal     (ii) 4-chloropentan-2-one    (iii) 3-methylcyclopentanone.
19. a) Complete the following reaction equations: 





         [3]






  
      (i) C6H5N2Cl + H3PO2 + H2O 
     (ii) C6H5NH2 + Br2 (aq.) 
       b) Why do primary amines have higher boiling point than tertiary amines ? 
20. An organic compound A (molecular formula C8H16O2) was hydrolysed with dilute sulphuric acid      [3]
    to give a carboxylic acid  B and an alcohol C.Oxidation of C with chromic acid produced B.

     C on dehydration gives but-1-ene.Identify A,B and C and write all the equations involved.

21. Give names of the reagents to bring about the following transformations :


      [3]
       (i) Ethanenitrile to Ethanal

      (ii) Hexan-1-ol to Hexanal

     (iii) Benzoyl chloride to Benzaldehyde

22. Arrange the following :








     [3]           (i) In increasing order of basic strength : 

                   C6H5NH2,C6H5N(CH3)2,(C2H5)2NH and CH3NH2
              (ii) In increasing order of solubility in water :
                    C6H5NH2,(C2H5)2NH and C2H5NH2
              (iii) In increasing order of boiling point :

                      C2H5OH,(CH3)2NH and C2H5NH2
  23*. Ethanol or Ethyl alcohol commonly called spirit is an excellent solvent.It is used in medicines,varnish and is an important chemical compound involved in synthesis of many chemicals. However inspite of its benefits it is a social evil.”Alcoholic” people are not only lowering their metabolism and affecting central nervous system but also a threat to the lives of others.We can take the famous case of actor Salman Khan who killed a man sleeping on the footpath and injured few others  in Mumbai while he was driving drunk. Industrial alcohol is denatured by mixing Ethanol with Methanol and at times the alcoholics drink it resulting in blindness and death.
After reading the above passage,answer the following questions :

i)”Alcoholism is a social evil.”Justify.







[2]
ii) As a student how can you spread awareness about this issue ?



[1]
iii) Why is drinking denatured alcohol lethal ?






[1]
24. a) Write the structures and names of A,B and C in the following reactions :


[3+2]

             C6H5NO2 [image: image10.jpg]


 A                               B [image: image11.jpg]


 C






                 Fe/HCl           NaNO2+HCl                 H3O+
     b)  i) Give a simple chemical test to distinguish between the following pair of compounds :
                C2H5NH2 and C6H5NH2
         ii) What is Hinsberg’s reagent ? What is its use ?
                                                                                OR
a) Write the structures of the main products when benzene diazonium chloride reacts with the 

     following reagents : 

   i) KI


ii)CH3CH2OH

iii) Cu/HCl

b) Write the equations involved in the following reactions :
    i) Hoffmann bromamide degradation reaction

   ii) Carbylamine reaction

25. (a) Illustrate the following name reactions:





[2+3]

          (i) Wolff-Kishner reduction
         (ii) Clemmensen reduction

     (b) How would you obtain the following:

         (i) But-2-enal from Ethanal

        (ii) Benzaldehyde from Benzoyl chloride

       (iii) Benzoic acid from Ethylbenzene 

OR

     (a) Give chemical tests to distinguish between the following:

        (i) Benzoic acid and Ethyl benzoate

       (ii) Benzaldehyde and Acetophenone

    (b) Complete each synthesis by giving missing reagents or products in the following:

             i) [image: image12.png]


----------SOCl2/Heat[image: image13.jpg]



        ii) C6H5COOH  + PCl5   [image: image14.jpg]



        iii) CH3COOH  + NH3   [image: image15.jpg]



26.a)  Write the equations of the following reactions:

       i) Kolbe's reaction
       ii)  Riemer Tiemann reaction

      b)  Account for the following:
         (i) C-O-C bond angle in ether is more than tetrahedral angle of 109.50

            (ii)  Phenol is more acidic than alcohol.
       (iii)  Alcohols and phenols have higher boiling point than ethers. 
OR

(a)  Explain the mechanism of  acid catalysed hydration of Ethene to form Ethanol  :

  CH2= CH2 + H2O [image: image16.jpg]


 CH3CH2OH
(b) Give the products of the following reactions:
i) CH3-CH2-CH2-OCH3 +HBr [image: image17.jpg]



ii) (CH3)3COC2H5 +HI [image: image18.jpg]
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